03190-10 MEIBPEMREFW , TEMEFRILF

- REMHEES
- PESPEMERE
- BEBRRSGEE

- REMHEES
- RIZHE BT
- BIFBRRGE R

KRR IRQER , TER AEBR

- W RENREFR
- BT B BT
- RFEEEMTFT
- IBHURBRRLE

7= miiEA

FmER

BESYENREFH , NA—R-RR USSR ATTHNEN. B
EMRE, BB UBiEFzEE B ERNKE AL D
K,

MR

BRI 2T,

W IR E R,
THNEETNS 1.4305,

g
WEIEEE
TETEN.

Ly =N
EYNENRKETF—BHN™ M.
EFEE , FFEABRIZMIRE,

REFEK :
HERRKH,

R4 -
ANAEIES | DIN 439

= |
| . 5
—
. \SW
-~
198
T D3
D pg
D1
03190-10-108040 4 M8 32 14 20 10 39 15 4 8
03190-10-210050 5 M10 40 18 24,9 13 46,9 17 5 10
03190-10-312060 6 M12 50 22 31,8 17 57,8 20 6 12
03190-10-416080 8 M16 63 26 40 21 74 26 8 16
03190-10-108041 4 M8x1 32 14 20 10 39 15 4 8
03190-10-210051 5 M10x1 40 18 24,9 13 46,9 17 5 10
03190-10-312061 6 M12x1,5 50 22 31,8 17 57,8 20 6 12

© norelem www.norelem.com




03190-10 MEIBPEMREFW , TEMEFRILF

03190-10-416081 8 M16x1,5 63 26 40 21 74 26 8 16

© norelem www.norelem.com



